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9.4 Sequences

Sequence Vocab. #68

sequence - an ordered progression of numbers

finite — A SeQeNce That ends

- end
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5,10, 15, 20, 25

2,4,8,16, 32,...,

Finte

ok

nfinite
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explicit - each term 1s defined independently ﬁggk'

q,b, 19, . fogk

rule: =4 + 5n
4= 43(1)=9 a,=4502)=(4 (1,7 A m(of O

recursive - use the previous term to define the
following terms B,l,73, L

rule: @ @;@“: O{\%”‘ff
q|=5' q ) \ ~5
250 4)= o‘,-cl.’S-A‘ B




April 16, 2012

Arithmetic Sequence

arithmetic - sequence with common difference
between successive terms(repeated addition)

be"{‘gmp\% explicit rule: | a, = a, "‘(” _1)d

Test! d = common difference

n = term_.number
a = term
Memor a

rpk‘&*recursive rue: a =a _,+d n>2
3

#69
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Find the common difference, a recursive rule, and

an explicit rule for the following se ces:

'69 '29 29 ) 10, d.=4’ a\:'_b a'\:an-f‘-A
V4% T g iyt 4|
4 4 Qn'-"a, 'f(ﬂ‘M

= -b'f('\_b‘"

==lpt4n—4
[An=4n=10

5,2, -1, -4\-], - d=3 0,0
-3

aidn—\('?’l

§ -3n1>

Qn
0!,0:3(\0)*8
T-204%

o)

a ‘\1.“3'\" %
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Geometric Sequence #70

geometric - sequence with a common ratio (quotient)
between successive terms (repeated multiplication)

mon 2e- -
e for )\éexplicit rule: a =a,® r(” 1)J
Test |

r = common ratio
n = term number
a = term

Yrecursiverule: |a, =a,_ er n>2
etz
For Te<t |
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Find the common ratio, a recursive rule, and an
explicit rule for the following sequences:

= 3 4  On= ql\-\
2\/6\/18\34 -t (071 0p=Fny |

<f’\f
| -l 5
a- !
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Find the first 5 terms of the recursive sequence:

b=-land b, ,=b +10 for k21

b, =9 o= 0, 0

b~ 9 :—-H(l\"\‘(\;)
s = _

<)
L=39




